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1. FRAERIZE T2 y=1.5919x-0.0046, x /& NADPH BE/RIKE: pmol/mL, y f/ZAA.
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2. FEARERE WA
BN E X 1E 37°C, 2w HLE AT 28E 1 nmol WEERZE ALK 1 nmol RIEERE I H.
{1 nmol NADP #44t i 1 nmol NADPH & X N — NS /1 547 o
CAD(nmol/min/mg prot)=[(AA+0.0046)+1.5919xV1x103]+(V1xCpr)=T
~20.94%(AA+0.0046)+Cpr
3. FRREAEEE T
BN E X 1E 37°C, 2w HLE AT 28 1 nmol WEERZE AL AL 1 nmol RIEERE I H
{1 nmol NADP#44 i 1 nmol NADPH & X N — NS /1 547 o
CAD(nmol/min/g £ )=[(AA+0.0046)=1.5919xV1x103|-(WxV1=V)+T
=20.94%(AA+0.0046)+W
4. WAAREA A CAD W5 A5 :
BN E X 1E 37°C, 2w HLE AR5 8E 1 nmol WEERZE AL AL 1 nmol RIEEREH H.
{1 nmol NADP #44t /i 1 nmol NADPH & X N — NS /1 547 o
CAD(nmol/min/mL)=[(AA+0.0046)+1.5919xV1x 103V 1+-T=20.94x(AA+0.0046)
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